

$$\boxed{(z_3 + '3) \frac{1-u}{c} = '3}$$

$$(z_3 + '3) \frac{1-u}{c} = (z_3 + '3) \frac{c-1}{c} = (z_3 + '3) \cdot \frac{c-1}{c} = (z_3 + '3) \frac{c-1}{c} = '3 \rightarrow$$

$$\frac{(z_3 + '3) \frac{c-1}{c}}{(z_3 + '3) \frac{c-1}{c}} = (z_3 + '3) \frac{(c-1)}{c} \cdot \frac{c}{(c-1)(c-1)} = \frac{c}{2g + '9}$$

$$(z_3 (c+1) + '3 (c+1)) \frac{c-1}{c} =$$

$$(z_3 + '3 c + z_3 c + '3) \cdot \frac{c-1}{c} = z_3 + '9 \rightarrow$$

$$(z_3 + '3 \cdot c) \frac{c-1}{c} = z_3 \text{ und } (z_3 c + '3) \frac{c-1}{c} = '9 \text{ mit}$$

Überdehnung: $z_3 = -c \frac{c-1}{c} = -\frac{c-1}{c}$